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[1] il 2 = (22 + 3y)e™ ¥ DRI P(1,0,2¢) I BT 2 E RO HERZ RO X, (15 #0)

[2] f(z,y)= arctan% DEE, foo+ fyy ZETHEE L, (20 £0)
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[3] 2B f(z,y) = 2 —z—¢® WHEIHIUL, ZhzRD L. BRPENPOFRZ L, (20 #)
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(4] 2 B f(z,y) & CPRET D, 28 u,v DEE g(u,v) % g(u,v) := f(e" cosv, e“sinv) TEFHT
BEE, foot fyy =€ 2 (Guu + 90) E%HD T EERRE, (20 2)
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[56] F(z,y) =2 +y* - 32y —3=0 CEEZEHM y = f(z) LT, DITOMWIZEZ K.

(1) f'(x) & f(z) & z ZHTRE, (10 )
(2) (1) DFREREWAT 22 L2k, fa)=0 %2 alR LTI f/(a) = — jlra&a:a%ﬁ&
e
(5 4)

(3) fl(a)=0%,7%%a%TXTKD, ZRFRIIHNLT f(a) DIEZRD X, (10 #)



